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2571k s 42 2% 3 (GER 5 1) 13.79

5[ 5112004 /A [H]3&2P 3 Cor 8 — 1) 13.85

6 8]
10 4]
[ 6]

(8#H]
1[ 3]
2[ 4]
3[ 7]
41 8]
5[ 5]
6[ 1]
7[ 6]
8[ 2]

AOpE A 3 Cor B Y A1) 13.93
20640 72 & A 2 (NI E) 14. 30
2463 Y # k1 G B . ) Ri5
( 0.0 m)
256 F % w4 3 (RAEREE 1) 13.68
443110 )11 A3 Cir & Y H1)13.82
15[« M#+2 G & )13.91
JME . w5 1 O ) = 1) 13.92
TR#E T2 3 A H)13.97
2654 F H 3 (K E M 1) 14.07
2493 T R R A4S 3 (B 2 . H1)14.08
230K /8 ngn2 CGor B — H1)14.18

(10#8)] (  -0.6 m)

1[ 5]
2[ 4]
3[ 7]
4[ 8]
5[ 3]
6[ 2]
10 1]
[ 6]

62284 = £ H 3 CHEEAH - E)13. 66
6214 H E 3 (iR -5%)13.82

TR H BHES (& M H)13.86
316k 11 4% 3 (R IEFE+) 14. 03
14700 % ft B 2 (FHR/NFH$) 14.05

3047 MAEE R 2 G JE = 1) 14.12
288> %2 (NZH ) 14.39

2315 # A2 G 2 — ) RiG

(1248] ¢ +1.9 m)

1[ 6]
2[ 4]

3[ 5]4806[i] H

41 3]
5[ 8]
6[ 7]

T[ 1]11285%

8[ 2]

2043 |11 45 2% 2 OAREERT-5%) 13. 65
5185 84 & A4 2 (LMW T)13.72
w46 2 (SWN\EFH)13. 80
425/ bk fE -2 O 1l ) 13.87
5138 A &2 CRELT-%E)13. 91
22836 A Aih g 2 G . 1) 13.98
¥ AE 3 UNZEFR ) 14. 06

14344 1 FdAC2 Gt 2 1) 14.63



[13#8] (  -0.5 m)
1[0 1] 2204 =& B B 2 (FrRERT-5%)13. 88
20 7] 3010 EmZE1 (BREESH —H)14.12
3[ 5] 80EME £ H 2 (EREKFH)14.22
41 4] 226J5 B ThA&2 CEr FE — H)14.49
506] 2171LE A1 3 G &2 — H1)14.75
6[ 2] 2091l ¥ &3 Gor . — H1)14.87
[ 3] 2 EEES G B — P)RIG
[ 8] 47121 H #3322 (AR ) Ri5
[15#8] ( 0.0 m)
1[0 8] 527 #Emwe2 (F L RPMT)13.78
2[ 2] 520x %y ‘KR E 2 (FLRAWWEF)14.00
3[ 4] 20585 A 3£ & 2 (AMERF-5HE)14.05
40 5148041 O 5 2 (EWN\EFd)14. 28
50 7] 154k W Fi&1 B & — H)14.44
6[ 1] 279 H &< &3 GHES —d1)14.52
70 3] 522/ M A2 (B RRET)14.57
8[ 6] 63% & b1 CERUET -5E)14.57

(17#8] ( +2.0 m)

1[0 2] 146 k% = H 3 (A LEERF)13.80
2[ 8J107THE =< B 2 (K H H H)13.86
3[ 5] AMEH K2 (iR H)14.00
A4 6] 236%% H #E A1 OARBERF-5%E) 14,15
5[ 724657 57 Zwe1 (= & H)14.22
6[ 4] 240f% 55~ 16 1 (ARERF -5 E) 14. 32
70 1] 618A FH FEF 1 GrEsT-5E) 14. 43
8[ 3] 184K LfEx+3 (8l 82 — H)14.57

[194] (  +0.2 m)

10 6] 736/ R  BE2 (AR EH)14.15
2[ 7] 687THE H A2 (MM & & 1)14.39
3[ 8110657 H ¥ 2 (K FH H )14, 42
41 4112565+ B )53 A ) 14.51
50 5] 237 F ¥ fE 2 1 OARERT-%E) 14. 67
6[ 1] 50975 ik 7 Jh 2 (HEL+-HE)14. 68
T0 211210/ 1 252 CGor FE . ) 14.78
8[ 3] 173 - me2 (B & — H1)14.85

[2148]) ( -0.7 m)

104] 908 HE~E2 (M H1)14.06
20 7] 319TE L Rk 2 (BRAESS — ) 14.45
3[8] 944 W 3 (# » B F)14.81
47 1] 555K Il 4T 3 2 (I (R &5 ) 14.83
5[ 3] 1804 H # &2 B & — H)14.84
60 6] 192/ NAREFEH 1 (SWERIAT)14. 86
T[ 5] 459%k A& WL & 1 (Frik w5 ) 14. 89
8[ 2]1216%F & ¥ 3L 6 CHF & [ 1#5)14.96

(14%8) (. -0.7 m)

1[ 2]
2[ 3]

252 1
201/~ 74

B3 OR JE M H1)13.92
Bz 2 OARIRR-5%) 13. 98

3L 6112124 i 322 2 Cgr & — 1) 14.29
4 81120611 7 = AL 2 Cor J& — 1) 14.29

5[ 4]
6 5]
10 7]

33T J55 Hw A 2 (BRBEZ — ) 14.47
262N W1 T =2 (FIEREE ) 14. 58
281K B 2 OnZH ¥Rk ) 14. 91

(16#8] (0.0 m)

1[ 5]
2[ 8]
3 2]
41 3]
5[ 7]
6 6]

282/)Nigy P H 3 (FIERES ) 14.04
SIS AZAZE 1 G . = 1) 14.15
42877 i Kk 2 U 1 H)14.27
221 g Ay £ 2 i FE = 1) 14.44
85 % B 1 (B » & H)14.49
S2JE\ fi] A Az 3 CRIMURS-5E) 14. 54

10 1J121688 H o8> 2 G BE — ) 14. 65
8L 4]1211/hHIE D& 2 (Br g — ) 14.83

[18#H]) ( +0.9 m)

1[0 5]
2[ 1]
3[ 4]

901k 1 w2 (f& [ )13.82
61fF 1 #4352 2 (fE @ K H1)14.12
20907 /2 ONREIBRRT -5 %) 14. 21

AT 71107110 I % 2% 2 OR JF 3R 1) 14.25

5[ 3]
6[ 8]
10 2]

[ 6]

6094~ 7k L il 2 CRrfAth-FiT) 14. 41
370/ 8 SeRE 2 (FriR L) 14,43

52/ & Ay 2 (B AE 79 ) 14. 81
2B B ®2 G )R

(2048 (  -0.3 m)

1[0 6]
2[ 8]
3[ 4]
4 5]

138 5 B B 1 (AR R ) 14. 26
324K 11 gn 1 (TR WEAE ) 14.27
15xmY tnI3 ({E @ K H1)14.57
1454k £ 3= 1 (A AR ) 14. 60

5[ 311207%F 3 H 322 Gor B — 1) 14.80

6[ 7]
10 1]
8[ 2]

909h A 2 & 2 (fF [ ) 14. 81
302°F 1 A& 2 Cfr B2 = 1)14.81

1278k X1 G JBE H)15.24

(22#8] (  -1.2 m)
1[0 412588 3 Rk 3 (RIERE — ) 14. 61

2[ 7]
3[ 8]
4[ 5]
5[ 1]
6[ 6]
70 3]
8[ 2]

61555 lif 48 0 1 oA -5 ) 14. 71
12778 5 Fizx 2 (NEmJE ) 14.78

42846 & # 2 s b H)14.81
300K & EAE2 CGir = 11)14.92

405[E JiF [ #5 2 Cr JA2 U 1) 14. 93
2381k )11 AL AE 1 OANREERT-5E) 14. 96
2085# At kL3 Cor 2 - 1) 15.55



[23#8] (  -1.0 m)
10 8] 358%F (= [ F51 (AR o) 14,24
2[ 1124631k B #E 1 (= & H)14.50
3[ 311901118 me H 1 (KWRBAF)14.77
40 7] 3N =JFwi~ #E 2 (FriRk EliaH)14. 84
50 4] 1639 4 H &2 B & — 7)14.86
6[ 6] 1597 mxvXmc1 (8 88 — ) 14.91
71[ 5] 560% A& 22 (IM{RZE —~)15.27
[ 2] BIRABREF 1 (ERKFEH) RIS

(25#] (  -0.6 m)

10 71106440 A f% 5 2 Ok JE 3 ) 14.56
20 5] 200)11 s H 2 CAFEERT-5E) 14,57
3[ 8161237 LA 83 1 (B K& 1) 15. 00

41 6] 2404 4 % 1 CGBr B2 — +#)15.06
5[ 4] bdiEMH EH K3 GEmLEF-%%)15.18

60 1] 2598 M 23 (FE% ~1)15.30
T0 3] 133 & JBAFn1 G & 1) 15. 88
[ 2119084 RHEUA 1 (SWRERIAT) Ri5

[27#8) (  -0.6 m)

10 8] B21N 1 Fu & 2 (&L RLBsT) 14. 69
2[ 6] 16 Hy2 K & #H)14.70
3L 7] 224 ¥ = B2 GEr 2 . 1) 14.73
40 1] 562/ &=L 1 (JII A H1)14.79
502] 657Kk &HFA&2 (L @ A H)14.86
6[ 4] 2234 jif
70 5] 129/ H
8[ 3] 400 IFy #E = 32
[294H]) ( -2.6 m)
107] 2870 % #EE1 (MBS 1)14.73
2[ 3] 6238 /NE 3 FHEAT-HE)14.78
3[ 8] 2994 #& w1 (RAEEE —H)14.97
41 4] 73081 8 K222 CAR A B ) 15,00
5[0 6] 691 K= ¥3£2 (M & & 1)15.06
6[ 51121758 & P 1 G FE — ") 15.14
70 1] 201/ 8 A A1 G B — t1)15.29
8L 2] 243)I15 22 A1 (B JE — H1)16.42

(3148 ¢  -1.4 m)

10 1] 186 M Jh 21 (AR LEER) 14,93
20 3] 233RA H F 1 (NFIERT-5%) 15. 06
3L 7] 476m1 M £ H 2 (Frikia ks H)15.09
41 8J4834 R A MM 1 (SWNEFH)15.30
5[ 6] 608/A Hy h 2 2 CoEAT-FE)15. 35

Tk 2 Cor M — 1) 14.99
KH1 G H)15.76
Cir JE DU 1) 16. 15

60 4] 303BAMRELifE2 Cor = 1)15.52
T 2] 412k #& % (@ & 4 ) 15.56
8[ 5] 236k i M1 Oy FE — 1) 15.69

(24%8] (

1[0 4]
21 1]
3[ 2]
41 8]

5[ 613078 H:
6[ 5]3063)I1 /i

10 7]
8[ 3]

(2648] (

1[ 3]
2[ 4]
3L 1]
41 5]
5[ 7]
6 6]
11 8]
8[ 2]

(28#8] (

10 2]
2[ 5]
3[ 7]
41 1]
5[ 3]
6 8]
70 4]
8[ 6]

(30481 (

1[0 3]
2[ 2]

3[ 4]1209/7 %

4( 8]
5[ 7]
6[ 5]

-1.3 m)

Fok 1 Iz R H) 14,
ZAE6 G [ )14,
di 32 1 (InZE Ak ) 14.
A2 (FE & A )14,
B 1LGE K &)14
HHE3GE A @)ib.
157F By hd 1 (F 88 — H1)15.
5751 H A 1L 3 (IR & —H)15.
-0.6 m)

83 » =3I » & )14
602uh il A & 2 (AT -HE) 14
60455 ik A 52 2 CHrEAH-5E) 14
564F HIGm 1 I A )14,
171886 fofE2 (F 88 — H)14.
3128 B 51 G B = H)14.
12/ HH 22 2 (FEA W) 15.
31kt M 35 3R 2 (A4 W& &6 ) 15.
-2.6 m)

166/~ A& 2 2 (A EEER) 14,
61075 7K &% 2 oA -HE) 14,
161955 ¥ A6 2 (AR EFER ) 14,
2021 )1 1 @ 8 = )14,
1223 [l MR AE 6 CBr JE B2 1) 15.
IR G 45 % 2 (RAWEGET)15.
1429 I 5246 2 (FTRVhFH59) 15.
2209 1 A5 P 2 OARERRF -5 %) 15.
-0.7 m)

15158 & &3 (A EERF) 14,
90034+ ¥ A4t2 (& W H)14
H Mk 2 Car 2 — W) 14,
362 H Wk 1 (AR Eligd)14.
3221n] By F A3 1 (A WE & ) 15.
8143 K  #FE 1 (= F5 W )15,

294%% H
1M3E T
292 ] ‘%
68877 A

T0 6112031 - £ we2 CGor 2 — )18,
[ 1] 31655 B % 2 (e — ) Rig

(3248] (

1[ 5]
2[ 3]
3[ 4]
41 2]
5[ 1]
6[ 6]
10 7]
8[ 8]

-1.1 m)
16314 i HL A 2 (AR RBEER) 14,
197 R L4 1 CNE ) i H) 15.
01/ EH A2 G i = )16,
1870 27 55 K F1 1 (AR R ER ) 16.
2107 )11 7= B8 2 OARIBRRT -5 %) 15.
8E M2 GE K 1S
S Emel GE K 1S
30975 gk AR 1 CEr 2 = H)15.

58
12
91
99
99
02
17
31

65
68
14
16
11
83
08
40

49
93
81
91
00
01
22
93

29
48
15
89
09
35
61

84
13
31
33
33
57
66
68



[3348] ( -1.5 m)

10 7] 563 W B2 41 (I
2[ 6]
3[ 8]
41 3]

A )14

50 2] 570k ik #5451 (xR % )15,
60 41121355 5 AR 2 CGor J — )16,
70 511208/ & FH &2 CGor 2 — ) 16.
80 1] 204%k 1 &1 Chr . — 1) 16.

(3548] (
1[ 8]
2[ 5]
3[ 2]
41 6]
5[ 7]
6[ 4]
70 3]

2.1 m)
1014

1825 1

[3748] ( -1.5 m)
1[ 8] 326/\ K&
210 4] 7284% jik
3[ 7] 15= E
41 6] 3144k

5[ 5]
6[ 3]
10 1]
8l 2]
[3948] ( -1.3 m)

10 1] 226 j%
2[ 21306255 (L0 &
A

1 GE

238K %
133K H

40 8]  AuE JiE
5[ 4] 7417 jiE
6[ 7] 16015 %
70 3] 230

1 (& B — #)16
HZm¥E 1 OMgER)-5E5) 17

2038 & # ok 2 (ARIEER® -5 %) 15.
2TET D 2 7 2 G EE 5 — ) 15.
31 Oy 2 Jf o H)15.

890 L& A 1 Ok JF R $)14.
281N H S < % 2 OINZF R ) 14,
¥ 81 (BTN )15,
S561RTH OV 7z 1 (R & —H1) 16.
2814 fiy 2ok 1 (WIERZE — )15,
1 ONR B R ) 16.
2347 T FF PR 1 (AREER -5 %) 16.

F 1 TR MERE )14,
i 35 2 ONTE] A It o) 14,
] H)15.
o1 (G B = )18,
617 T H A 1 GiEAT - -5E)15.
— 31 G B2 )18,

By 2 ON ) J ) 15,
23225 WAL BN 1 ONRIRR -5 %) 16.

filr 1 (FrRERF -5 %) 15.
3GE A @)1s.
3[ 6] 3187 M F5ra 1 Cor E = )15,
1GE A )16
1 CA T A ) 16,

.91
05
18
19
o4
05
31
99

83
83
02
08
38
49
99

89
92
12
59
61
18
99
14

06
28
35
14
14
.19
.10

[ 5] 218H 1 {h %3 Cor 2 — 1) RiF

(41%8) (. -2.9 m)

106l 17w #Haol (@
2[ 2] 167+ L
3[ 5] 319% %

] )14

5[ 7] 276#% H

(43#8] ¢  -1.7 m)

10 4] 709388k 70> = 7 GBr JE e 1) 15.
B2 Ok | )15,
2 ONRE ) i ) 15,
B HE 1 JE o K )15,
H i1 R )15,
ZHE 1 G B = Hf)16.
52 (I REE ) 16.
2 EIA4V—1 GE K H)16.

2[ 8110741 #
3[ 5] 7354k jiE
470 11 67 K
5[ 7] 296 &
6[ 6] 3063% &
70 3] 5623
8[ 2]

&2 (N[ LR ) 15.
PEDEL GO 2 = )15,
41 8]10754E R FEWL 2 Ok H 3 H)18.
BA @S )18
60 3] 242K fRMIERR 1 Gor . — )16.

.90
30
34
53
97
60

43
61
69
88
99
317
68
86

[34%H]) ( 2.4 m)
10 8] 353 B3 1 (IR Eibhn) 14,
2[ 3] 3647 & 1 FrRELaH)15.
3[ 5] 357y BB 1 (FriR Eaf)15.
4[ 4] 351HT H 1 (FHR L) 15,
5[ 6] 35555 I E{& 1 (FriR EiaA)15.
6[ 71 3214a M HE A& 1 (B0 H) 16,
70 1] 23585 K #& % 1 G 2 — 1) 16.
8[ 2] 205%ifi v &0~ 1 Cor 2 — )16,

[36%8) ( -0.6 m)
10 7] 183iE 43 (] & — F)14.
20 11 2248 )11 FnAE 1 CHEEAH -5 E) 14,
3[ 6] 417K f& ¥ 2 (Frikm )15,
AL 5] 108= 4% B3 3£ 1 (FHR/NFHH) 15,
5[0 4] 1647 (L H % 2 (A EERF)15.
6[ 3] 23@m4E AL 1 AT -5E) 15,
7[ 8]11060% B XK >t 2 (K F H H1)15.
[ 214803k #f

[38%#H] ( -0.5 m)
1[0 2] 512%5 V8 E R 1 (L A2 ¥ ) 15.
2[ 6] T29%& M £ B2 (AR M E ) 15.
3[ 71480587 i ¥ % 2 (SWA\ETH)15.
41 4] 2228 %6 B2 (FF M — th)15,
50 3] 469 jiE & 1 (7 & MU )15,

Co

ES

D

HE I R

6[ 5] 616 N GBI A - 5 £) 15,
70 8] 6907k Hf k1 (& A )15,
[ 1] S7T1fj ¥

[40%4H]) ( -1.4 m)

10 1] 180 BE % # 1 (AR EERRH) 15.
2[ 811078/ ik & 3% 2 (K H H H)15.
3 2] 116Em % A6 (R—F v X)1b.
41 7] 2954 L EHA 1 GHEESH )15,
5[0 6] 1158 /5 #i &6 (R —F » X)15.
6[ 3] 808ILH 531 (= % 8 H#)15.
10 5] 239k & A (AHERHB-5E) 15,
8[ 4] 468/ E A& (B B U )15,
[42%8]) ( -1.3 m)
105] 1684 K k1 G M H)15.
2[ 21612005 4% 4 & 1 (5 K& ) 15.
3L 7148326k H L F 1 (SWNEFH)15.
A0 4] 14 K56 (R —F » X)15.
50 6] 61HKEEEE 1 CRRLFH-HE)16.
6 8] 3167 &+ EE M 1 CGoF FE = )16,
70 3] 13184 HE W1 G )16,
[44%8) (  -1.8 m)

10 8] 893y ALAE 1 (K I H 1) 15.
2[ 2119097 7 ok E 1 (ZWERAH)15.
3L 7] 258 HAEe6 G FE B )15
40 4] 68X W #FEHK1 (HE O K H)15.
5[0 3] 7445k F 1 CANR 1A H) 16.

#*

60 5] BIRKHAMAE 2 (LR F-H)16.
70 1] 47085 48 3570 (8] 8% 1M H9)16.

8l 6] 63EEWY T2 (HE ® K H)16.

A
17
35
46
93
06
18
24

14
90
03
04
09
10
21

BE2 (QWNEFH) RE

19
34
38
46
98
59
13

AT (RS ) RI5

06
31
49
99
68
12
11
81

A
86
90
96
21
24
16

40
48
11
90
20
25
37
40



(45%8] (
1[ 613067+ H
2[ 4]3080[m =
3[ 7] 3597% %
40 3] 1T/ B
5[ 8] 285%E 7T
6[ 2] 9207 [i]

-3.0 m)
1 GE
FK 1 GE

A w15
A w15

8[ 5] 624 +

(4748 (  -2.4
10 3] 18944 K
2[ 5] 82 A
3[ 8] 183 i
41 1] 613K %
5[ 4] 406/% M
6[ 211022111 I%

[ 612460%k T £ En 1 (=

m)

&

2251 (AR B ) 18,
4 G B B2 1) 16.
A1 (FIEREE ) 16.
# o 5 (B JE BE 1) 16.

70 1] NMHTEDE AR 6 (R — % v X)16.
# 1 GRIBIWRR-HE) 17,

D8 1 (AR _ERER ) 15.
Hfn2 (B K1) 16.
H 321 OAF R ) 16.
¥ F 1 CREAS-5E)16.
B AT 3 G B W) 17,
D RE 4 Cor 2 B ) 17.
W) Ri5

. 64
.16

86
32
38
49
49
10

o4
23
35
13
62
97

[ 7] 28510 1 & 3% 2 ONZE k) Ri5

(49%8] (  -1.6
107]
2[ 6]
3[ 5]
41 2]
5[ 8]
6 4]
7011 21 k%
8[ 3] 2374 )11

[6148] ( -2.5
1[ 4]
2[ 7]
3[ 5]
41 8]
5[ 3]
6[ 6]
10 2]
[ 1]
1 601/ B H=2 FEAF-HE)12.
2 250 ZF KBRS OR E M H)12.
3 3027 K HEE3 RAWERET)12.
4 263K T# 3 RAEEHE )12
52415 (Ll A&7+ 2 (= B H)12.
6 460 Ak A3 U b H)12.
7 SB3E ) 3 (HER - -5E)12.
8193311 1 K3 (XVWEMAH)12.

m)

5479 K

m)

68313 % % X

206 |- B

57
13
16
85
87
88
90
99

558% E F B 1 (&t RIiET)16.
510 & o 1 (R B2 v 1) 16.
He1 (B KFEH)16.
1627 7% W H 1 (F 88 — ) 16.
07 #E S E 1 G B = ) 16.
6145k  E 51 (AT -5E)16.
54 Gy B 2 ) 17.
T G o 1T

A1/ AR P 1 (FriRk Mk ) 16.
239t A V47 1 (B JE . ) 16.

SH I #6465 Cor EE [ 1) 16.
1 (F & A )17
20355 A BLmE 1 G e . A 1T,
B 1 Cir B — 7)) 18.
2020 @ I 1 G e — i) 18.
30T # % 35 (VOLVERZ » 1) k15

25
39
43
54
63
96
22
49

o4
58
15
05
90
11
21

+0.
+1.
+0.
+0.
+0.
+0.
+0.
+0.

—_ A =~ == o) =

(46481 (  -1.3
&3 1 (FrR Ea ) 16.
W1 G B2 )16,
H A 5 (B JE B 1) 15.
F A1 IR T) 16.
feF2 U )16

%6 (R—F v X)16.
A6 CBr JE B2 1) 16.

fii 1 (AR A ) 16.

1[ 8]
21 3]
3[ 4]
41 6]
5[ 2]
6[ 5]
70 1]
8[ 7]

[4848] (
3308 A #E JH 6 (B JE B 1) 15.
529 M A 161 (ER K )16,
20777 2wy Ty=)-1 C#r & — 1) 16.
B Zs 2 ONTE 1) 5 H) 16,
A H)16.
622K v5 7R 5 CHT EE BE 1) 16.
203)\ 86k TR 3E 1 GEEEE — ) 16.
2067 5 BE3 CGEr 2 o d)iT.

[5048]) (
556 &0 & 1 (B R ) 15.
% 1 ON ERERR ) 16.
80935 A K1 (= 7% H )16.
3564 18 We B 1 (AR ke ) 16.
284 W ZE AR 1 (A & — dn)17.
B3 GR35 E) 17,
BIBIHR B &2 (LR KEH)18.

1[ 3]
2[ 6]
3 2]
41 5]
5[ 7]
6 4]
11 8]
8[ 1]

1[ 8]
20 7]
3[ 6]
41 2]
5[ 1]
6[ 5]
70 3]

[ 4]

(5248] (

1[ 8]
20 7]
3[ 5]
41 1]
5[ 6]
6 4]
10 2]
8[ 3]

m)
3634 By
20074 M

17 H
46678 A
432k
112F1 H
2744 |
3607 R

-1.8

m)

1324 1,
561/t il e 1 (1

1.7

m)

184477 1

o1/ I

B3 WH A1 (LR KR
-1.3 m)

SWBERINIET) 1 (TRAWEHEH)15
329K EH A1 GRS WEEET)16
4831 & FLAE 1 (Frikm ks ) 16
5575 i R R 1 (R K )16
682% 2 W1 (M & & 1T
509(5 %7 HMhHE 1 (8K B 78 )17
N7EHE 24 (R —F% v X)18
607/ Bk Ha 4 3 G JAE 2 145) 18

88
94
99
00
06
32
34
38

40
08
10
24
35
45
98
03

45
10
45
63
90
52
08

15

13
.19
.46
.90
.19
.20
.15
.95



ZLF 200m REA15E)

[14#8]) ( -3.7 m)
10 2] 6017 & EH =2 GHEAST HE)27.02
2[ 8] 460 Ak &3 (& 1 )27.08
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